USER MANUAL

BENUTZERHANDBUCH
UZIVATELSKY MANUAL
UZIVATEL'SKY MANUAL

WALL MOUNT FOR FLAT SCREEN
WANDHALTERUNG FUR MONITORE&TV-GERATE
NASTENNY DRZAK NA OBRAZOVKU
NASTENNY DRZIAK NA OBRAZOVKU

CMH-7600-BK

connect[i§’

EN
DE
074
SK



WALL MOUNT FOR FLAT SCREEN °""769%-8¢ USER MANUAL

Before putting this product into operation, please read carefully all the instructions, even if you are already familiar with using similar
products. Use the product only as described in this manual. Keep this manual in case you need it for future reference.

The electronic version of this user manual can be downloaded on the website www.connectit-europe.com.

We recommend keeping the original packaging of the product, invoice and warranty certificate at least for the time the warranty is
valid. When shipping the product, we recommend using the original packaging that the product was delivered in that will provide the
best protection for it from being damaged during transport.

1 Warning

® The wall or the surface used for securing the mount must have sufficient strength and maximum load to secure the weight
of the mount, the screen and other accessories.

® When installing the screen, use an assistance of another person.

® During the installation, tighten the screws properly, but make sure not to strip the threads. That could damage the installed
screen or significantly decrease the maximum load of the mount.

® This wall mount is designed for indoor use only. Outdoor use may cause harm, damage to the mount or the installed screen.
® Check the stability and safety of the mount at least every three months.

2 Specifications

® Colour: black

® Quick and easy assembly

® Screws and concrete anchors included
® Fits most 32"-70" flat panels

® Max. load capacity: 35 kg

°

VESA compliant:
100 x 100
200 x 100
200 x 200
300 x 100
300 x 200
300 x 300
400 x 100
400 x 200
400 x 300
400 x 400
500 x100
500 x 200
500 x 300
500 x 400
600 x 100
600 x 200
600 x 300
600 x 400

VESA 100 - 400 mm

CMH-7600-BK IZ' E Ia/

600x400 35kg 32" -70" 68 - 340 mm -5°+15°

connect [l oy



WALL MOUNT FOR FLAT SCREEN °""769%-8¢

3 Package contents

Al 4x A2 4x A3 4x A4 4x A5 4x

M4x20MM M5x20MM MBx20MM M8x20MM

A6 4x

(9
[

B1 4x | | B2 4x B3 4x | Wrench Magnetic Wrench

AT F
& NS ©e

4 Assembly

1a. CONCRETE WALL %

USER MANUAL

Bracket

M5x30MM —— 1

—————>

60mm

178

1

@ 3/8"(10mm)

23. CONCRETE WALL

(S]]

Magnetic removable
bubble level

connect[i§




WALL MOUNT FOR FLAT SCREEN °""769%-8¢ USER MANUAL

m 1b. woobp sTuD

60mm

®3A16"(5mm)

2b. woob sTup

Magnetic removable
bubble level

3a. ™\
If our screws are too long for A6
your TV, please prepare some Al1-A4
shorter screws by yourself. 0
o
Square Washer (A6)

| —For M8 Screws

| ForMS &M6
Screws

PoY

™ For M4 Screws

connect [l oy




WALL MOUNT FOR FLAT SCREEN °""769%-8¢

3b.

If our screws are too long for
your TV, please prepare some

shorter screws by yourself.

Bracket

Wall Plate
Wall

connect[i§

A1-A4

Square

USER MANUAL

Washer (A8)

| —For M8 Screws

| ForMS5&M6
Screws

™ For M4 Screws



WALL MOUNT FOR FLAT SCREEN °""769%-8¢ USER MANUAL

Tighten or loose the screws on the wall plate to keep level.

Tighten or loose the screw nuts on the wall plate to adjust the tilting angle.

connect [l oy



WANDHALTERUNG FUR MONITORE&TV-GERATE €MH-7600-BK g\ y1zERHANDBUCH

Vor Inbetriebnahme dieses Produkts lesen Sie bitte sorgfaltig die komplette Anleitung zu dessen Benutzung, und das auch fir den
Fall, dass Sie mit der Verwendung eines Produkts 8hnlicher Bauart vertraut sind. Benutzen Sie das Produkt nur auf die Art und Weise,
wie in dieser Anleitung beschrieben. Bewahren Sie diese Anleitung fur den weiteren Verwendungsbedarf gut auf.

Diese Benutzungsanleitung kdnnen Sie auch in elektronischer Version herunterladen auf der Webseite: www.connectit-europe.com.

Mindestens fur die Dauer der Garantielaufzeit ist die Aufbewahrung der Originalverpackung des Produkts, des Kaufbelegs sowie des
Garantieblatts (falls mitgeliefert) zu empfehlen. Beim Transport empfehlen wir das Produkt zuriick in die Originalverpackung zu legen,
in der es geliefert wurde und die es am besten gegen Beschadigungen beim Transport schitzt.

1Warnung

® Die Wand oder die Flache zur Befestigung des Halters muss Uber eine ausreichende Festigkeit und Tragfahigkeit fur

das Gesamtgewicht des Halters, des Bildschirms und des Zubehdrs verfugen.
Bei der Installation des Bildschirms nehmen Sie die Hilfe einer weiteren Person in Anspruch.

Ziehen Sie bei der Installation die Schrauben ordentlich fest. Geben Sie jedoch acht, dass Sie das Gewinde nicht beschadigen. Die
Beschadigung des installierten Bildschirms oder eine radikale Verringerung der Tragfahigkeit des Halters konnen die Folge sein.

Dieser Halter ist nur fur die Verwendung in Innenraumen bestimmt. Andernfalls kénnen Verletzungen, die Beschadigung des

Halters oder des installierten Bildschirms eintreten.
Kontrollieren Sie die Stabilitat und die Sicherheit des Halters mindestens einmal in drei Monaten.

2 Spezifikation

Farbe: Schwarz
Einfache und schnelle Montage

Inkl. schrauben und dubel -
Geeignet fr den Planschirm /
32"-70" geeignet

Maximale Tragfahigkeit: 35 kg

VESA-kompatibel:
100 x 100
200 x 100
200 x 200
300x 100
300 x 200
300 x 300
400 x 100
400 x 200
400 x 300
400 x 400
500 x 100
500 x 200
500 x 300
500 x 400
600 x 100
600 x 200
600 x 300
600 x 400

cmursooek  Lot]

600x400 35kg 32" -70"

connect[i§

[

[Lubd

68 - 340 mm

'VESA 100 ~ 400 mm

I=/

504150

o 1



WANDHALTERUNG FUR MONITORE&TV-GERATE €MH-7600-BK g\ 1zERHANDBUCH

3 Verpackungsinhalt

m Al ax| A2  ax |A3  ax |A4  ax | A5 ax | AB  4x Halter
» & &© & O
M4x20MM M5x20MM MB6x20MM M8x20MM

B1 4x| B2  4x| |[B3  4x|  Sechskantschlissel Magnet-

4 Montage

1a. BETONWAND %
60mm

S= ——————————>

o

\ﬁﬁ @ 3/8"(10mm)

23. BETONWAND

(S]]

Magnet-Wasserwaage,
abnehmbar

connect[i§



WANDHALTERUNG FUR MONITORE&TV-GERATE €MH-7600-BK g\ y1zERHANDBUCH

1b. HOLZDUBEL

60mm

®3/16"(5mm)

2b. HoLZDUBEL

Magnet-Wasserwaage,
abnehmbar

3a. ™
Sollten die Schrauben fir Ihr 8 A5 A6
TV-Gerét zu lang sein, halten d A1-A4
Sie selbst einige kiirzere iy 0
i Ol
Schrauben bereit.
O o
O
O
©
O]
7

Viereckige Unterlegscheiben (A6)

| — Fur Schrauben M8

Fir Schrauben
| M5&M6

PoY

™ Fir Schrauben M4

connect [l oy



WANDHALTERUNG FUR MONITORE&TV-GERATE €MH-7600-BK g\ 1zERHANDBUCH

3b

m A Sollten die Schrauben fir Ihr
TV-Gerat zu lang sein, halten
Sie selbst einige kirzere
Schrauben bereit.

4,
Halter
Wandhalterung
Wand
connect

A1-A4

Viereckige Unterlegscheiben (A6)

Q// Fur Schrauben M8

Fir Schrauben
| M58&M6

™ Fir Schrauben M4

Schrauben
M5x30 MM

Schrauben
M5x30 MM

Festziehen



WANDHALTERUNG FUR MONITORE&TV-GERATE €MH-7600-BK g\ y1zERHANDBUCH

Anziehen oder Lockern der Schrauben an der Wandhalterung zum Justieren.

Anziehen oder Lockern der Muttern an der Wandhalterung zur Einstellung des Neigungswinkels.

connect [l oy



NASTENNY DRZAK NA OBRAZOVKU MH-7690-BK 71y e sk¥ MANUAL

Pred uvedenim tohoto v{robku do provozu si, prosim, peclivé prostudujte cel( ndvod k jeho pouziti, a to i v pripadé, Ze jste jiz obezndmeni
s pouzivanim v{robkd podobného typu. V{robek pouZzivejte pouze tak, jak je popsano v tomto ndvodu k pouZiti. Tento navod k pouZziti
uschovejte pro pipad dalsi potieby.

V elektronické podobeé si tento ndvod k pouZiti miZete stdhnout na webové strdnce www.connectit-europe.com.

Minimalné po dobu zaruky doporucujeme uschovat originalni baleni vgrobku, doklad o nakupu a pripadné i zaruéni list, pokud byl dodan.
(ov4 V pripade prepravy doporucujeme zabalit vgrobek zpét do originalniho baleni, ve kterém byl dodan a kter( jej nejlépe chrani proti
poskozeni pfi preprave.

1 Varovani

® Sténa nebo plocha pro upevnéni drzaku musi mit dostatecnou pevnost a nosnost pro celkovou hmotnost drzaku, obrazovky
a prislusenstvi.

® Priinstalaci obrazovky vyuzijte asistenci druhé osoby.

® Srouby pfi instalaci fadng utdhnéte. Dejte v3ak pozor, abyste nedolo ke strzeni zavitd. Maze dojit k pogkozeni instalované
obrazovky nebo radikalnimu snizeni nosnosti drzaku.

® Tento drzak je uren pouze pro vnitini pouziti. Pfi venkovnim pouzZiti drzaku mdze dojit ke zranéni, poskozeni drzaku
nebo nainstalované obrazovky.

® Kontrolujte stabilitu a bezpecnost drzaku alespor jednou za tfi mésice.

2 Specifikace

Barva: cerna
Snadna a rychlad montaz

°
°
® \/getné Sroubl a hmozdinek

® Vhodng pro ploché

obrazovky 32°-70" g

Max. nosnost: 35 kg

Kompatibilni se standardem:
100 x 100
200 x 100
200 x 200
300 x100
300 x 200
300 x 300
400 x 100
400 x 200
400 x 300
400 x 400
500 x 100
500 x 200
500 x 300
500 x 400
600 x 100
600 x 200
600 x 300
600 x 400

VESA 100 - 400 mm

CMH-7600-BK IZ' E Iﬂ/

600x400 35kg 32"-70" 68 - 340 mm -5°+15°

connect [l oy



NASTENNY DRZAK NA OBRAZOVKU c#-7e00-2«

3 Obsah baleni
Al ax | | A2 4x | | A3 4x | | A4 4x AS 4x A6 4x
» » &» &» O
(0]
0
M4x20MM M5x20MM M6x20MM M8x20MM
ax Kli¢ Magneticka Kli¢

odnimatelna

vodovaha ﬂ
MSx30MM —————] 1

&N \\W! \@ﬁ!

4 Montaz

UZIVATELSKY MANUAL

Konzola

1a. BETONOVA ZED %
- < 60mm
) @ 3/8"(10mm)

23. BETONOVA ZED

(S]]

Magneticka odnimatelna
vodovaha

connect[i§




NASTENNY DRZAK NA OBRAZOVKU S"H-7690-BK  {j7yaTe kY MANUAL

1b. DREVENE SLOUPKY

60mm

®3/16"(5mm)

2b. DREVENE SLOUPKY

Magneticka odnimatelna
vodovaha

3a. ™\
Pokud jsou nase Srouby pro vasi 0 AS A6
televizi moc dlouhg, budete si 8 A1-A4
muset sami opatiit kratsi. ol 0o
O o
O
O
©)
©)
7
Hranata podlozka (A6)
O// Pro Srouby M8
| ProSrouby
O M5 a M6

™ Pro $rouby M4

connect [l oy



NASTENNY DRZAK NA OBRAZOVKU c#-7e00-2«

3b.

Pokud jsou nase Srouby pro
vasi televizi moc dlouhé,
budete si muset sami opatfit
kratsi.

4.
Konzola
Nasténna deska
Sténa o
connect

A1-A4

Hranata

PoY

UZIVATELSKY MANUAL

podlozka (A6)

| — ProsSrouby M8

Pro Srouby
| M5aM6

™ Pro $rouby M4



NASTENNY DRZAK NA OBRAZOVKU S"H-7690-BK  {j7yaTe kY MANUAL

Horizontalné vyrovnejte utazenim nebo povolenim Sroubd na nasténné desce.

Utazenim nebo povolenim matic na nasténné desce upravte Ghel naklonu.

connect [l oy



NASTENNY DRZIAK NA OBRAZOVKU SMH-7800-BK  7yATEISKY MANUAL

Pred uvedenim tohto v{robku do prevadzky, si prosim starostlivo precitajte cel§ ndvod na pouzitie, a to aj v pripade, Ze ste uz
obozndmeny s pouzivanim v{robku podobného typu. V{robok pouZzivajte iba tak, ako je popisané v tomto ndvode na pouzivanie.
Tento ndvod K pouzitiu uchovajte pre pripad dalSej potreby.

V elektronickej podobe si tento ndvod na pouzitie moZete stishnut na webovej stranke www.connectit-europe.com

Minimalne po dobu zaruky odporG¢ame uchovat originalne balenie v{robku, doklad o ndkupe a pripadne aj zaruéng list, pokial' bol
dodany. V pripade prepravy odporicame zabalit vgrobok spat do originalneho balenia, v ktorom bol dodang, a ktor{ ho najlepsie
ochrani proti poskodeniu pri preprave. m

1 Varovanie

® Stena alebo plocha pre upevnenie drziaku musi mat dostato¢nd pevnost a nosnost pre celkovi hmotnost drziaku, obrazovky
a prislusenstva.

® Priinstalacii obrazovky vyuZzite asistenciu druhej osoby.

® Srauby pri inétalaci riadne utiahnite. Dajte v&ak pozor, aby nedoslo k strhnutiu zavitov. Méze dajst k podkodeniu inétalovanej
obrazovky alebo radikalnemu znizeniu nosnosti drziaka.

® Tento drziak je ur€eny iba pre vnitorné pouZitie. Pri vonkajSom pouZiti drziaka méze dojst k zraneniu, poskodeniu drziaka
alebo nainstalovanej obrazovky.

® Kontrolujte stabilitu a bezpecnost drziaka aspori raz za tri mesiace.

b4
] > L]
2 Specifikacie
Farba: tierna
L'ahka a rgchla montaz

Skrutky a hmozdinky v baleni -

Vhodn(g pre ploché

obrazovky 32°-70"

Max. nosnost: 35 kg
Kompatibilng so standardom:__—

100 x 100
200 x 100
200 x 200
300x 100
300 x 200
300 x 300
400 x 100
400 x 200
400 x 300
400 x 400
500 x 100
500 x 200
500 x 300
500 x 400
600 x 100
600 x 200
600 x 300
600 x 400

'VESA 100 ~ 400 mm

CMH-7600-BK IZ' E Ia/

600x400 35kg 32" -70" 68 - 340 mm -5°+15°

connect [l oy



NASTENNY DRZIAK NA OBRAZOVKU MH-7690-BK j7iyaTersiy MANUAL

3 Obsah balenia
Al ax | | A2 4x | | A3 4x | | A4 4x A5 4x A6 4x Konzola
» & & & O

m M4x20MM M5x20MM MB6x20MM M8x20MM

4x Klae Magneticka Klae
odstranltelna

RN \\W! @@!

4 Montaz

1a. BETONOVA STENA %
60mm
\ﬁﬁ @ 3/8"(10mm)

23. BETONOVA STENA

(S]]

Magneticka odstranitelna
vodovaha

connect[i§



NASTENNY DRZIAK NA OBRAZOVKU MH-7690-BK  j7yaTersky MANUAL

1b.DREVENY NOSNIK

60mm

®3/16"(5mm)

2b. DREVENY NOSNiK

Magneticka odstranitelna
vodovaha

3a. ™\
Ak s nase skrutky pre vas televizor 0 AS A6
prilis dIhé, budete si musiet sami 8 A1-A4
opatrit kratsie. i 0
O o
O
O
©)
©)
7
Hranata podlozka (A6)

| — Na skrutky M8

Na skrutky
| M5aM6

PoY

™ Na skrutky M4

connect [l oy



NASTENNY DRZIAK NA OBRAZOVKU MH-7690-BK j7iyaTersiy MANUAL

3b.

Ak sU nase skrutky pre vas
televizor prili§ dihé, budete si
musiet sami opatrit kratsie.

4.
Konzola
Nastenna doska
Stena o
connect

A1-A4

Hranata podlozka (A6)

| — Na skrutky M8

Na skrutky
| M5aM6

PoY

™ Na skrutky M4

Skrutky
M5x30 mm



NASTENNY DRZIAK NA OBRAZOVKU MH-7690-BK  j7yaTersky MANUAL

Horizontalne vyrovnajte utiahnutim alebo povolenim skrutiek na nastennej doske.

Utiahnutim alebo povolenim matic na nastennej doske upravte uhol naklonu.

connect [l oy



I S
| v
F!o

connect [}

MANUFACTURER
HERSTELLER
VYROBCE
VYROBCA

IT TRADE, a.s.
Brtnicka 1486/2
101 00 Praha 10 - Michle
Czech Republic
tel: +420 734 777 444
service@connectit-europe.com
www.connectit-europe.com



